Soustraction Avec Un Zéro (])

5000
- 893

4000
- 3741

9000
-6 866

3000
-422

4000
-2783

5000
-1862

7 000
- 414

Calculez la différence.

9000

-2978

3000

-2904

2000
-42

4 000

- 2843

7 000

- 5517

2000

- 816

9000

- 5549

1000
-751

1000
-218

7 000
-2 035

1000
- 958

2000
-913

7000
- 5827

7 000
-177

5000
- 944

5000
-1651

6 000
- 627

6 000
- 242

9000
-7 222

6 000
-4768

4000
- 1345
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Soustraction Avec Un Zéro (J) Réponses

Calculez la différence.

5000 9000 1000 7000
- 893 -2978 -751 -2 035
4107 6022 249 4 965
4000 3000 1000 2000
- 3741 -2904 -218 -913
259 96 782 1087
9000 2000 1000 7 000
-6 866 -42 - 958 -177
2134 1958 42 6 823
3000 4 000 7000 5000
-422 - 2843 - 5827 -1651
2578 1157 1173 3 349
4000 7 000 5000 6 000
-2783 - 5517 - 944 - 242
1217 1483 4056 5758
5000 2000 6 000 6 000
-1862 - 816 - 627 -4 768
3138 1184 5373 1232
7 000 9000 9000 4000
-414 - 5549 -7 222 - 1345
6 586 3451 1778 2 655
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